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QASEM 9A MATH
Find the next term in the sequence.

(1) 1.4,8,12,16,20

a. 24 b. 22 c. 25 d. 30
111

@13

a.i b. 16 C.% d. 10

......................................................................................................................................................

(3) Find m£ABC if m£ZABD = 120°

a. 18 b. 36
c. 84 d. 120

(4) Find m£LKM if mzJKM = 140°

a. 40 b. 100
c.25 d. 140

..............................................................................................................
.............................................................................................................. “‘
.............................................................................................................. Y
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QASEM 9A MATH
(6) Refer to the figure to identify a segment line parallel to EH

a. CD b. CH c. ED d. BG

(7) Determine which lines, if any, are parallel.so that m£1 = m«5

a.p.l b.n,m c.m,l d.nl

......................................................................................................................
......................................................................................................................

(8) Determine which lines, if any, are parallel. so that 29 = 211

a.L,m b.a,b c.L,b d. m,a

----------------------------------------------------------------------------------------------------------------

(9) Determine Order and Magnitude of Symmetry

a. order = 5 magnitude = 72°
b. order = 2 magnitude = 180°
c. order = none magnitude = none

(10) Which figure has point symmetry?

a. b. c. - d. /\

......................................................................................................................................................
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QASEM 9A

(11) Find m«£3
a. 74 b. 56
c. 50 d. 66
.......................................................................................................... P
(12) m£ABC
A
a. 50 b. 25 c. 30 d. 95
50
............................................................................................................. f . 1450
............................................................................................................. B ¢C D
(13) Find the value of x A
(2x + 5)°
a.x=5 b.x =51
(x —10)°
c.x = 148 d. x =180 1489
.................................................................................................................. o B
(14) Write a congruence statement. K I > I
a. AJKM = ALMK b. AJMK = AMLK I R
c. AJMK = AKML L - J
J J > M
(15) In the diagram, AABC = AFDE A F
&=y
Find the value of x and y
a.x =36 y =48 b.x =48 y =36
c.x =108 y =48 dx=72 y=96 108°
............................................................................................................ BN 4
£ BD E
4
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QASEM 9A MATH
(16) In the diagram, ALMN = AQRS. find x, y.

S R L
(3y —20)3
a.x=17,y =37 5
3x —5 ks
bx=22,y:17 (2y —3)°
c.x=77,y=22 Q M N

H
(17) In the diagram HL = LK, L] = LG

Determine which postulate can be used to prove that the triangles

G
are congruent according to the information given. L J
a. SAS b. SSS c. AAS d. ASA
................................................................................................................................... B,
(18) Which of the triangles are congruent
a. H b. C.
/
l []
L J T Y
T
(19) Given: C is the midpoint of both BE and AD.
E
Name a pair of congruent triangles. A B
a. AMABC = ACDE b. AABC = ADEC
c. AABC = AECD d. AMABC = AEDC % =
5
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QASEM 9A MATH
(20) In the diagram

Determine which postulate can be used to prove that the triangles are congruent according to
the information given.

L A > B
Given: AB || CD, «CBD = £ADB
a. SAS b. S§S c. AAS d. ASA - .
................... _X
(21) Given: WY bisects £XWZ and £XYZ
W
Determine which postulate can be used to prove that Y
the triangles are congruent. 7
a. SAS b. SSS c. AAS d. ASA
................... __A
(22) Given: WP and AB, bisect each other, Which postulate can
X
be used to prove that the triangles are congruent? w 2
a. SAS b. §SS c. AAS d. ASA
............................................................................. _V
(23) Given: 4§ = £V, and T is the midpoint of SV.
T U
What additional information could be used to prove that ARTS = AUTV R
a.28 =2V b.ST =TV c. ZRTS = 2VTU S
6
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QASEM 9A MATH
(24) In the diagram, £C = 27 and AC = XZ.

What additional information could be used to prove that AABC = AXYZ?

a.2X = LA b. BC = XY Y
c.AB=YZ d. 2Y = 24 /\ A

......................................................................................................................................................

(25) In the diagram, £A = 2X and 4B = £Y

What additional information could be used to prove that AABC = AXYZ?

a.2X = £C b. AB = XY
c.AB=YZ d.2Y = £A i : 24
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QASEM 9A MATH
(27) Given: Q is the midpoint of RS, PS = PR ”

Name a pair of congruent triangles.

a. ARQP = ASQP b. ARQP = ASPQ
c. ARQP = AQPS d. ARQP = APQS

......................................................................................................................................................

(28) Which pair of triangles have enough information given to prove that the triangles are
congruent using SSS or SAS.

a. C C.

(29) Use the following statements to write a compound statement for

qV~P

q: A week has seven days.
p : There are 20 hours in a day.

a. A week has seven days, or there are 20 hours in a day.

b. A week has seven days, and there are 20 hours in a day.

c. A week has seven days, or there aren't 20 hours in a day.
d. A week hasn't seven days, and there are 20 hours in a day.
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QASEM 9A MATH
(30) Use the following statements

p: —3—2=-5.
q: Vertical angles are congruent.

r:2+8>10 WHICH OF THE THESE COMPOUND STATEMENTS IS FALSE

a.)pand q
c V~r

:
d)~r V~p
......................................................................................................................................................
......................................................................................................................................................

......................................................................................................................................................

(31) Determine which statement follows logically from the given statements.
(1) If you do not get enough sleep, then you will be tired.
(2) If you are tired, then you will not do well on the test.

a. If you do not do well on the test, then you did not get enough sleep.
b. There is no valid conclusion.

c. If you are tired, then you will not get enough sleep.

d. If you do not get enough sleep, then you will not do will on the test.

......................................................................................................................................................

(5x)°
a.x=28,y=47 bX:47,y=40 (3y_1)o 4.0°

......................................................................................................................................................
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QASEM 9A MATH
(33) Find the value of x and y /
a.x =10,y =15 b.x =20,y =30 N (sx—lo% >
c.x =15,y =10 dx=24,y=12 e Oy (f)

S [

......................................................................................................................................................

......................................................................................................................................................

(34) Write an equation in slope-intercept form for each line described.

passes through (—7, —4), perpendicular to y = %x +9

a.y=—-2x—18 b.y=2x+18
c.y=:x+10 dy=—=x+10

(35) Write an equation in slope-intercept form for each line described.

passes through (6, 2), parallel to y = — %x +1

ay=—-x+6 b.y==-x+6
cy=—3x+2 d.y=§x+2

......................................................................................................................................................

......................................................................................................................................................

(36) Determine which of the following coordinates would make AB and CD are

perpendicular.

a. A(8,2),B(4,1),C(3,11),D(2,9)

b. A(4,2),B(3,1),C(6,0),D(10,8)

c. A(1,4),B(5,5),C(9,—10),D(—6,—5)

d. A(8,—-2),B(4,—1),C(3,11),D(-2,-9)

......................................................................................................................................................
......................................................................................................................................................

......................................................................................................................................................
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QASEM 9A MATH

(37) Find the distance between the two parallel lines with the given equations.

x=-5, x=4

......................................................................................................................................................

......................................................................................................................................................

y=7, y=-1

......................................................................................................................................................

(39) Find the distance between each pair of parallel lines with the given equations.

_ B . _1C=€4]
y=3x |, y =3x+ 10 hint d——m
a. V10 b.\7 c. V3

......................................................................................................................................................
......................................................................................................................................................

(40) The image of F(—3, 1), under a translation vector. (5], —1)
a. F'(2,0) b. F'(0,2) c. F'(8,2) d. F'(0,—2)

......................................................................................................................................................

(41) The image of A(—3,—5) under a translation is A’(6, —1). Find the image of B(3, —2)
under the same translation.

a. B'(12,2) b.B'(-12,-2) ¢ B'(2,—12) d. B'(6,—1)
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QASEM 9A MATH

(42) If the triangle ABC is reflected across the line y = x to
become A'B'C’ what are the coordinate of A’

a. A'(2,-3) b. A'(=3,2) B
c. A'(=3,-2) d A'(=3,2)

...........................................................................................................

...........................................................................................................

(43) If the trapezoid EDGEF is reflected _
across the line x = —1 to become E'D'G'F’ E1 F
what are the coordinate of D’

a.D'(-2,-3)  b.D'(-3,2)
¢.D'(-3,-2) d. D'(-3,2)

......................................................................................................................................................

(44) Determine the coordinates of S(—7, 1) after a reflection in the liney = 3.

a.S'(~=7,5) b. S"(=3,5) c.S'(7,—4) d. $'(7,4)

12
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QASEM 9A MATH

(46) TOWERS A lookout tower sits on a network of struts and posts. “!
Leslie measured two angles on the tower. If mz1 = (7x — 7)°, <
ms2 = (4x + 2)°, and ms3 = (2x + 6)°, what is mz£1?

a. 98 b. 25 c. 30 d. 95

..........................................................................................................................

..........................................................................................................................

(47) Given: DE||FG, £E = £G
Prove: ADFG = AFDE

Determine which postulate can be used to prove that the

triangles are congruent.

a. SAS b. §S§S c. AAS d. ASA

......................................................................................................................................................
......................................................................................................................................................

(48) Find the value of x. X
3x + 8
a. 12 b. 25
c. 60 d. 40 7 R Y
(49) Find the value of x.
a. 10 b. 12 c. 15 d. 30 D

...................................................................................................................................................

...................................................................................................................................................

...................................................................................................................................................

13
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QASEM 9A MATH

- PLEASE SHOW YOUR STEPS -

(50) Write two- column proof

Given: NP = PM,W 1L PL

Prove: ANPL = AMPL

N
P L
M

statements Reason
GIVEN

ANPL = AMPL

(51) Determine whether ABand CD are parallel, perpendicular, or neither for
A(3,6),B(-9,2),C(5,4),and D(2,3)

......................................................................................................................................................

......................................................................................................................................................

14
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QASEM 9A MATH

(51) COMPLETE THE PROOF
Given: AB = C_B, D is the midpoint of AC , Prove: AABC = ACBD

solution: A D C

Given: AB = @, D is the midpoint of AC.
Prove: AABD = ACBD

Proof: B

Given
. Definition of midpoint

BD = BD
AABD = ACBD

B C D
(52) two-column proof
Given: AB = ﬁ, CA = C_E,A_C bisects BD
Prove: AABC = AEDC E

A
Given

. Definition of segment bisector
Midpoint Theorem
AABC = AEDC

......................................................................................................................................................

15
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QASEM 9A

- GAMING Devontae is building a house in a simulation
video game. He wants the roof of the house and
the main support beam to create congruent
triangles. If BD | AC and BD bisects AC ,write
a two-column proof to prove DABD = ACBD.

MATH

SOLUTION:

Given: BD 1 AC. BD bisects AC.
Prove: A4BD = ANCBD

Proof:

AABD = ACBD

16
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Determine which postulate can be used to prove that the

triangles are congruent.IF NOT WRITE CANNOT BE PROVED.

MATH

BONUS

="

17
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